Strike Specifications for 6K, 8K, 9K

Cylindrical Locks

For online instructions, assistance or warranty information:

Template No: K2I
Series: 6K, 8K, SK

Call1-800-392-5209 or visit https://dhwsupport.dormakaba.com/hc/en-us

BEST®

dormakaba Group

1-1/4" [31.7]

6KS3 ANSI Strike

4-1

1/4"

P

[6.4]

/8" 1-1/4"

[123.8] [104.7] [31.7]

VAR

A
3/4"
[19]

¥

) 4

3-3/8"
[85.7]

1/

NOTES
1 Prepare for a #8-32 machine screw or for a #8 wood screw
(combination screw supplied).
2 Prepare for a #12-24 machine screw or for a #12 wood screw
(combination screw supplied).
3 Allow plus tolerance for clearance per ANSI ATI5.2.
. 1-1/8"
6KSTK Strike |« [28.6]
e 1/4"
[6.4] i
k 4-7/8"
ans 5/8"
\\P; [15.9]
—
2-3/4" 2-1/8" 1-3/16" 1-1/2"
[69.8] [53.9] [30.1] [38.1]
N
/\(\J/ 2 x #8-32 Screw '
5/32" —>| [£=

4 2132 [;6.6]
1-3/4" [44.4
5/64"l < 444,/

=
9] i 1-7/16" S—T

[36.5]

!

8KS1 Box % 9/16"
1/32‘J [14.3]

[.8] 1

2-5/8" 1-13/32"

T
|
|
667 13571 |

|

BEST is a trademark of dormakaba USA Inc. 82023 All rights reserved.

Not to scale 1:1.

Not a drilling template.

Measurements are for reference only.

2 x #12-24 Screw

NOTE #2
21/32" [16.6] R 25/64
[9.9]
l 1-15/16" [49.2]
3/32" —— 9/32"
[2.3] T L [7.1]
1-37/64"
[40]
v 3/64"
T [1.2] 30HS4 Box
31/32" '
[24.6]
v
1-1/32"
< > [26.2]
1-7/32"
< 1B31]
4 {} A )
—t— ,
|
|
[aD)
4-1/8" 3-13/32" 4-25/32"
[104.8] I [86.5]  [121.4]

1
I
|
I
|
I
|
I
|
I
|
I
|
I
|
)

M
~ iU

T56060_D



NOTES

1 Prepare for a #8-32 machine screw or for a #8 wood screw

(combination screw supplied).

2 Prepare for a #12-24 machine screw or for a #12 wood screw

(combination screw supplied).

3 Allow plus tolerance for clearance per ANSI ATI5.2.

. 1-1/8"
8KS2 Strike o [28.0]
[11.5] - |
N
K 5/8"
+Dr [15.9]
2-3/4" 2-1/8" 1-1/4" by 1172
[69.8] [53.9] [31.8] | 38.1]
' Dy 2 x #8-32 Screw
P NOTE #1
<>
47/64" [18.6]
1-9/32"
sieany | [32'5]\ 4
f R [6.4]
[22.2]

|

|

8KS1 Box

1/32"

[-8]

9/16"
[14.3]

f

T

2-5/8" 1-13/32"

[66.7] [35.7]

BEST is a trademark of dormakaba USA Inc. 82023 All rights reserved.

1-1/4" [31.7]
20/64" [11.5] N 8KS3 ANSI Strike
| ~ :
7, \ 3 4II
\ {6\9/7_ [19]
v
| N
|
|
! |
4-7/8" 4-1/8" 1-1/4" i 3-3/8"
[123.8] [104.7] [31.7] I [85.7]
\_ J |
|
!
: ) '
RN
’\Q 2 x #12-24 Screw
NOTE #2
47/64" [18.6]
1-9/32" 1/4"
332" ¥ [B25] | y 164
2317 N
718" > T
[22.2]
i 3/64"
I T e 30HS4 Box
31/32" ’
[24.6]
R 1-1/32"
[26.2]
1-7/32"
[31]
4 N
(O
=== N
Ian)
| |
| |
| |
|
|
4-1/8" ||l || 3-13/32" 4-25/32"
[104.8]||! | | [86.5] [121.4]
|
| |
|
| |
|
|
D!
S
Not to scale I:1.
Measurements are for reference only. A -E}
Not a drilling template. \ J (
T56060_D




